3. WF50mBE/AE (BI/L—7)

BRI K& FRR4 PEH IR ZA4L  BE
1M BE B/ NER 3 2 4 3810 7
2 BEH B 2 EBHAER 4 4 6 3861 5
3/ 2R JEINER 3 3 5 39.79 4
40 MEES mERERR 4 4 1 4402 3
540 EE  UE/NER 3 2 3 46.76 2
6 Fff HE - BEENFEKR 3 2 2 4724 1
7T A = B/ IR 4 4 2 49.03
8o M BN FER 4 3 4 5233
O @R WA HEFE/NER 4 4 3 52.66
10 A+E BR  EERIAFER 3 2 1 5291
11 BIFr BB  BEINER 3 3 1 5431
12 B HH  AKREBNER 2 1 3 56.22
13 AE BE AR ENER 3 3 3 58.39
14 40 #Hwhd ZEBENFKR 4 4 5 1;08.52
1598 ME  BEIAFER 3 2 5 1:05.49
16 BEE F10 KRB NER 3 3 6 1:12.14
17 % BRE  ABRENER 3 2 6 1:20.96

DNS He #E7y  HEAENFER 11 2

DNS HE ZE¥ ERHNIER 2 1 4

DNS Mg =3 KERAMEZFE/NFR 3 3 2

DNS #FiE & ERIN=R N 4 4 4



